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@ How many skis are
needed for a party of
38 skiers?

@ Sixty-nine people pay
' £5 each for a coach
ticket. How much do

they pay altogether?

@ Pairs of socks are sold
in packs of three. How

many pairs are there in
47 packs?

Work out

@ Tickets for a Fun Run
cost £6 each. 249
people buy tickets.
How much is made
for charity from ticket
sales?

® Each sweet weighs 5 g.
What do 375 sweets
weigh?

@ Each row of knitting
takes eight minutes.
There are 147 rows in a
pattern. How long will
it take to knit?

@ Elsie takes four pills
every day. How many
does she take in a non-
leap year?
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Q A stately home has 8269
visitors, each paying £5
entrance fee. How much
is taken in entrance fees?

@ The population of -
Westham is 5846. Three
times as many people live
in Eastham. What is the
population of Eastham?

@ Each car weighs 1874 kg.
What is the total weight
of the eight cars on a
transporter?

@ Aryan earns £2957 each
month. How much does
he earn in six months?



